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UT23°818U2 a°Ta0AUa0UUCHE 21 BE2=2Y.2ULU uEU=20e2T2U T2Y@02T°5420AUa0UU°SE
2e2T10a0AU20" £62T20201a0 1261200 16211695

N=%2 1A=20Y»Aai

1. 1=28T20£0 15278°0%, . 52Ug £82T=0=0020 i Afal)
ool &2 | 8 | _ o=80E00=8k =1 ~VabzoT20k0 12E0°0K APSUTA — —
0§ | " | TUTee=NET2T20 2621231020 ba_ 121U°8k 1M=0Y | pIA2YCYRY
2(1202000°8A UGca6T»f e=1ana00
Ao A 19291020, 55,408,8154 | 50,6558414 |  4,752,974.0
-AUAZOKT 12E¢6°0 6,958,2063 | 591690791 | 1,041,0272
-2a UEU=08=2T=0 2TT£1U°5E T1a1 12E6°8 484506091 | 447388623 | 3,711,7468
1] on |06 | or | e et ot T o 19362629 |  1,761,066.6 175,196.3
3{1 AT40° DD yCY3YeY»AC ~ (TaYaUCT3C Y2 E=A=hasAlasy 1,936,262.9 1,761,066.6 175,196.3
AUAZOET 12E696, 31t Aail’ 650,814.7 610,455.4 49,359.3
=0 126690, 57 Afall 650,814.7 610,455.4 29,359.3
=k =Eon 650,814.7 610,455.4 29,359.3
34 102082120 2111 Uok 1121 126696, S Atal 12764482 | 1,150,611.2 125,837.0
PEGU=T=U 0kzacUo, 51k Aréil 12764482 | 1,150,611 125,837.0
PoUo5 ©1 PEUAGAU26UUS, ST ATal 25,7852 23,183.9 2,601.3
Do YUsiG ™ BCYAIAIAYoIG T2 BC T Ioi=>Vana- a0 25,7852 23,183.9 2,603
0°0°U=U°5 o1 626021206860U°8, 31+ Atéil’ 1,250,663.0 | _ L127,427.3 123,235.7
2R DV Tol ~ B0 (U 1,250,663.0 | _ 1,127,427.3 123,235.7
04, BSUSBESARSIGY p=VIC S¢=T641AISUy GRS T=V=6740
N I R i L v L 14825020 | 1,156,365 3261355
ST Atal B SHioAS IS TaAISY VS ESASTaNAN 1,482,5020 | 1,156,36655 326,1355
AUAZOET 12E696, 5t Aal’ 85,614.7 66,787.9 18,826.8
=0 126690, 57 Afall 85,614.7 66,787.9 18,826.8
=k =Eon 85,614.7 66,787.9 18,826.8
34 102082120 2111 Uook 11121 126696, 1 Atal 1,396,887.3 | _ 1,089,578.6 307,308.7
PEGU=T2U 0kzacUo, 51k Ardil 1,396,887.3 | _ 1,089,578.6 307,308.7
PoUo5 ©1 PEUAGAU26UUS, ST ATaL 1,213.497.0 946,540.7 266,956.3
DoV~ BCYAIAIAYoIG T2 BC T Poi=>Vana- a0 1,213.497.0 946,540.7 266,956.3
0°0°U=U°5 o1 626021206860U°8, 31+ Atéil’ 183,390.3 143,037.9 40,352.4
2R DV =Tol -~ ER0= (U 183,3903 143,037.9 40,3524
10.970800= WV I>64IAISY 3R -36U3Y UGSY%- 3623;? NgUy=1fi=(g
U=1A 31045V=3R=2Y40 »ATAY»AC T3%UST»A4MAISY
3| 04102 0L |seaysathi=ly GreT=Y=6740 SibsTat votal WHAiG 286,1408 286,1408 -
STV 43R S6USY 7S -C
ST ATAID DD A0SV 1A= Vo ESronaha 286,140.8 286,140 -
AUAZOET 12E656, 5t Aéil’ 26,012.8 26,012.8 -
=20 126690, 51 Afall 26,012.8 26,012.8 -
=k [=Eon 26,012.8 26,012.8 -
34 102082120 2111 Uook 1121 126696, 1 Atal 260,128.0 260,128.0 -
PEGU=T=U 0kzacUo, SIr Ardil 260,128.0 260,128.0 -
PoUo5 ©1 PEUAGAU26UUS, S ATaL 260,128.0 260,128.0 -
B YUsTC ™ BCYAIAIATYoTC T2 BCTE I i>Vana. a0 260,128.0 260,128.0 -
16, BSUSBESARSICY SV Sc=T6aA0=Uy GroT=TS6i40
4 | 04 | 02 | 01 |TM0atd=T3Y O»&VATAIAIAIYY»AC ~ +AASTST=E 36 THIIGY 1,906,705.6 1,883,424.1 23,2815
8ISV ToRAIAISY 437 S60SY IS -G
ST ATAID DD A0S T o= Vo E oo naha 1,006,7056 | 18834241 232815
AUAZOET 12E66, 51 ATaU 286,791.1 286,791.1 -
>0E 12£6°5, 50 Afall 286,791.1 286,791.1 -
EHETS 286,791.1 286,791.1 -
38 UEU2U8=T20 2TTE1 UOBK 1131 126696, S0 ATal 1619,9145 | 1506,633.0 232815
DEQU=T=U 0kza0Uo8, 21 Afal) 1,619.0145 | 1596,633.0 23,2815
P05 ©1 PEURGAUE6UUSS, S ATAL 1,500,0605 | _ 1,500,0605 -
D YUnf ™ BCYAIAIAYYoIG T2 B0 T InA>Vana. &0 1,500,0605 | 1,500,0605 -
0o2°oU=U53 o1 625021 268060U°3, 31 Atal’ 119,854.0 96,5725 232815
2[E UnU»Y3Y»f " 6303 TaRaUY»A 119,854.0 96,572.5 23,281.5
5 | 04 | 02 | 0L | Ko poBcy RaTots o = V=010 578,1345 4750263 103,108.2
ST% ATAI DD (A0S T ToBai0=Y Vo E SR nahaN 578,1345 4750263 103,1082
AUAZOET 12E656, 51 ATaU 114,033.6 84,379.0 29,654.6
>0E 12£6°5, 50 Afall 114,033.6 84,379.0 29,654.6
>F 1Eon 114,033.6 84,379.0 29,654.6
38 UUUE=T20 2T1E1 UOBK 1131 126696, 50 ATal 464,100.9 390,647.3 73,453.6
DEGU=T=U 0kzaoUos, 21 Afal) 464,100.9 390,647.3 73,4536
o055 ©1 PEURGAUE6UUSS, S ATAL 454,346.1 383,428.7 70,917.4
D VURG ™ BCY A& VoG BCY>RnaiAlAY 170,709.0 126,324.7 44,3843
DoV ofiG ™ BCYAIAIAYoIG TBCT 2 I»i>VaTa. &0 283,637.1 257,104.0 26,533.1
0o2°oU=U03 o1 625021 268060U°3, 31 Atal’ 9,754.8 72186 25362
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. 123T20£0 18213°3K, . 32U £32T=2020020 (2 Arail
ml 22| #® _ 223pE0U°BE T ~ (262°T20£0 12E8°8% AVISUnVA — ——
[ i + | TUTee29£T2T20 _ 2621231020 pa, 1210°3£ ISAICY | pU=2ycvay
201202000°3A UGga6Y»h &3 1440
2t U»U»Y3Y»h " 83A03 TaRaiUY»h 9,754.8 7,218.6 2,536.2
26. USTA 3f1jasv33V40 »ATAV»AC TSRIST»AR4AISY
6 | 04 | 02| 01 [=c=Tsatki=ly CroT=y=2614) 2Ai=1A=TaY 656,823.2 656,823.2 -
»YAST36816 T2 TUY»AG HASTSY-YUSY Tfi=-CA
ST ATaiU DD -Ja00= 1Y T»eaihl=Y Yo ESnanainlan 656,823.2 656,823.2 -
AUAZOET 12E6°0, 312 ATail’ 6,503.2 6,503.2 -
20E 12E6°5, 12 ATail’ 6,503.2 6,503.2 -
2 [SEenn 6,503.2 6,503.2 -
22 UEU2082120 21141 USSK T1a1 12E890, S ATal 650,320.0 650,320.0 -
PEPUZT20 PEzaoUos, SIt Atal) 650,320.0 650,320.0 -
PoUg°56 ©1 bEUABAUAGUUOS, S0t ATail 647,068.4 647,068.4 -
BV UnAG ~ BOYARIAYYo1C TSACTSE T»A=Yana- ail 647,068.4 647,068.4 -
20 DEQUZT20 pkzaoUo8, St ATall 3,251.6 3,251.6 -
USES. IS rSwar=13Y [SEeni 3,251.6 3,251.6 -
28.9M0480=V»848A03Y %=1 - 26U3Y Ugc=2%-230¢Y NcUY=1/=0¢
7 | 04| 02| 01 |=¢=Teathi=ly ch=T=Y=06140 SPati=i=T=Y \y==ranatAlssy 1,247,061.1 840,611.1 406,450.0
yAUsAY»ACY! T7=-CA
S ATail BD -Ja0= 1Y T»eaiAl=Y Yo ESnenanlas 1,247,061.1 840,611.1 406,450.0
AUAZOET 12E6°8, 31 Afail" 165,820.4 165,820.4 -
20E 12E6°5, 1 ATail’ 165,820.4 165,820.4 -
2 [SEenn 165,820.4 165,820.4 -
22 UEU=2082120 21141 USSK T1a1 12E890, S ATal’ 1,081,240.7 674,790.7 406,450.0
PEPUZT20 PE=aoUos, SIt Atal) 1,081,240.7 674,790.7 406,450.0
PoUZ°56 ©1 bEUABAUA6UUSS, S0t ATail 984,814.6 610,910.6 373,934.0
BoYUnAG ~ BOYARIAYYo1C TSACTSE T»Ai=Yana- ail 984,814.6 610,910.6 373,934.0
2°g°020°8 ©1 626021 a0a00U°0, SIt ATail 44,3705 44,3705 -
TASVeRATT3ICY 630= 1anaiUT»h 26,012.8 26,012.8 -
2t U»U»Y3Y»i * 63A03 TaRai0Y»A 18,357.7 18,357.7 -
20 DEQUZT20 pk2aoUo8, SUt ATall 52,025.6 19,509.6 32,516.0
USES. IS rewar=13Y [SEeni 52,025.6 19,509.6 32,516.0
06. B20=3RE=f=0¢Y u=YIC 3¢2T648A0=0p ¢R=T3Y236140
B[ 08|02 | 04 | o e =Y r Ty 4107 T1-Ch 1,962,4056 |  1,712,942.9 249,462.7
31 ATaU" DD T3A3103UCY I3€313AU3Y Y3E3A3RAAIBY
AICY e é».l?gpy 40CT> 1,962,4056 |  1,712,942.9 249,462.7
AUAZOET 12E890, 312 ATail’ 89,223.9 64,544.3 24,679.6
2(E 12E8°0, 3 Afail’ 89,223.9 64,544.3 24,679.6
2t [3Ee»i 89,223.9 64,5443 24,679.6
23 UEUZ082T20 21141 USK T1a1 126890, S ATail 1,873,181.7 | _ 1,648,398.6 224,783.1
PEPUZT20 PE=aoU°d, SIt Atail 1,873,181.7 | 1,648,398.6 224,783.1
PoUZ°8 ©1 PEUAAUab0USS, it ATail 1,873,181.7 | 1,648,398.6 224,783.1
VUG~ ROVAIRIAYY»iC TSACTSE 1»AYana- ail 1,873,181.7 | 1,648,398.6 224,783.1
07. B20=3RE=f=0¢Y u=YIC 3¢2T648A0=0p ¢R=T3Y236140
9 | 08| 02 | 04 | o ariune =Y rry- 4= »TAARE T-Ch 655,815.2 587,076.4 68,738.8
31 ATaU" DD T3A3103UCY I3€313AU3Y Y3E3A3HaAIBY
GSICY WY HeaihlsY Bria TaUCT 655,815.2 567,0764 68,738.8
AUAZOET 12E890, 31 ATail" 97,190.3 69,681.8 27,5085
2(E 12E8°0, 3 Afail’ 97,190.3 69,681.8 27,5085
2 12Een 97,190.3 69,681.8 27,5085
23 UEUZ082T20 2T1£1 USK T1a1 126890, S ATail 558,624.9 517,394.6 41,230.3
PEPUZT20 PE=aoU°d, SIt Atall 558,624.9 517,394.6 41,230.3
PoUZ°8 ©1 PEUAAUab0USS, it ATail 558,624.9 517,394.6 41,230.3
P»YU»AG " BCYAGAIASY Y»AC TSACT3E T»A3YaR4- 4l 558,624.9 517,394.6 41,230.3
09. B20=3RE=H=20CY u3YIC 3¢=3T64tA01=Up GA3T2Y=26140
10 | 041 02 | 04 |oe oy fmimion.c pof- 260y 1=-Ch 98,3284 68,836.4 29,492.0
31 ATaU" DD T3A3103UCY 1363 13AU3Y Y3E3A3RAAIBY
GSICY WY HeaihlsY Bria TaUCT 98,3284 68,8364 29,4920
AUAZOET 12E890, 312 ATail’ 98,3284 68,836.4 29,492.0
20E 126690, 31 ATail’ 98,3284 68,836.4 29,492.0
2 12Eern 98,328.4 68,836.4 29,492.0
10. D3USBE3ANSICY p=YIG S¢3T645AI30p CAST3Y=26140
11104102 | 04 |54 pay Nauaragc- clifzan -c3633Y »nTnanEcrna-cn 840,766.2 840,766.2 -
31 ATaU" DD I3ASIU3ICY I3E3T3AU3Y Y3E3A3naAl3Y
GR2IGY TV »880AI=Y ArT =12V TAUG T 840,766.2 840,766.2 -
AUAZOET 12E6°0, 312 ATail’ 83,891.3 83,891.3 -
20E 12E6°6, 1 ATail’ 83,891.3 83,891.3 -
2 [SEenn 83,891.3 83,891.3 -
22 UEU=2082120 21141 USSK T1a1 12E890, S ATal 756,874.9 756,874.9 -
PEPUZT20 PE2aoU°s, Sit Atal) 756,874.9 756,874.9 -
PoUg°56 ©1 bEUABAUA6UUSS, S0t ATail 756,874.9 756,874.9 -
PV UnAG ~ BCYAGRIARYYAC RO SA=RAtAIARY 756,874.9 756,874.9 -
=3 SAN3| =d 33 13| IS 3Y3
12 | 04 | 03 | 04 gifauuan'g ;gaooucugvl pblg - T68AI=U0 GR=T=Y=6F40 420,464.4 343,206.4 77,258.0
ST A&l BD 1562 1SaAl=T SEES TS5 420,464.4 343,2064 77,258.0
AUAZOET 12E6°0, 312 ATail’ 293,652.0 241,756 5 51,8955
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o | 2 123T=20£0 18298°8E, _ 32Ug £52T=0200a0 {2 Avgl
w22 ® _ 223pE0U°BE ©T ~U20=°T=20£0 12E6 3K AVI=0nTA —— ——
[ i + | TUToe=2£T=T=0 _26=T=510=0 ba_1=1U°3£ T2 | p2U=ycv=y
2(1202000°8A UGca6Y»h &314n450

_ 320=2pUashUos, 21t AT&il" 130,051.0 113,799.5 16,2515
_5202pUacbUos a°12120 D211 21£ 2UE
5=T=8_ =TOoBED, = AT&" ) 130,051.0 113,799.5 16,2515
AYA=0CT Tn=U= »| ST=T=Y N= T 1210 =
T g AP PTG = 130,051.0 113,799.5 16,2515
20E 12E&°5, 3% Ajail 163,601.0 127,957.0 35,644.0
=[ 1=2Eé»n 163,601.0 127,957.0 35,644.0
2a 0£U=062T=20 2T1£1 U°BL 1121 126698, =0 Afail’ 126,812.4 101,449.9 25,3625
DEPUZ120 pE2ac0°8, 3% Atal 126,812.4 101,449.9 25,3625
Po0g°5 ©1 PEUabAU260UOS, 3T ATl 126,812.4 101,449.9 25,3625
BrYUnfiC ~ BQVATRIABYY»AC TSACTSE T»i=Vana- Al 126,812.4 101,449.9 25,362.5
03. 0=344Y¢=230¢ T26=31=23n41A03Y 2¢=3T640A030u CA3T3Y=36140

13 | 04 | 03 | 04 ?303'|'0r37 B&-»-3%30CY 6CTEAT ;Yo - SpfalG T=64560=Y 13,348,761.0 | 13,348,761.0 -

i=-Ch

3L ATAU" DD (V»h-»1CT 300 V2E SA=natAlal 13,348,761.0 | 13,348,761.0 -
AUAZOET 12E&°8, 31 ATail’ 342,361.0 342,361.0 -
20 12E6°5, 30* Afail 342,361.0 342,361.0 -
= 1=Eé»n 342,361.0 342,361.0 -
24 UAUZ0&2T20 2T1£1 UOBE 1121 126698, 30 ATaiU 13,006,400.0 |  13,006,400.0 -
DEGUZT2U pheaoUod, 21 Aiail" 13,006,400.0 |  13,006,400.0 -
PoUg°5 ©1 PEUabAUZ60UUOS, 3(* ATail 13,006,400.0 | 13,006,400.0 -
B»VU»AG ~ RGYADAIADY Y»1G BCY ZA=RatAIAIY 13,006,400.0 |  13,006,400.0 -
02. O=A4YC=30¢ T263T=3R4IA1SY S¢=2T6alAl=Up CASTSY=6140

14 | 04 | 03 | 05 [sbsTwASR=04MUSY - [5G~ HSBECE 63Y611G ASTSY-YUSY 4,524,797.6 4,398,538.0 126,259.6
ifi=-Ch
32 ATAU" DD (VoA - »TCT30C Y ESn=natAlas 4,524,797.6 4,398,538.0 126,259.6
AUAZOET 12E&°0, (2 Ajail 290,205.2 163,945.6 126,259.6
20E 12E&°0, 302 Ajail 290,205.2 163,945.6 126,259.6
=[ 1=2Eé»n 290,205.2 163,945.6 126,259.6
aa UEU2082T20 ZT1£1 UCBE 1121 126890, 3L ATai 4,234,592.4 4,234592.4 -
DEPUZ120 pE2a00°8, 3% Atal 4,234592.4 4,234592.4 -
Po0g°5 ©1 PEUabAU260US, 3t ATl 4,234592.4 4,234592.4 -
BoYUnfiC ~ BQVAIRUABYY»AC TSACTSE T»i=Vana- Al 4,234,592.4 4,234592.4 -
03.1»AU=YC30¢ %=1 - 36U3Y T2AT»A¢ p=2YTC 3¢2T64A0=0p

15 [ 04 | 03 | 05 [CA=T=Y=674D Urlui=gYoA- (G W»0S+4EU=Y &TWAAG 507,282.1 507,282.1 -
i=T288560=Y Ir=-Ci
3L ATA0" DD (V»h-»1CT 300 V2 E SA=natAlal 507,2682.1 507,2682.1 -
AUAZOET 12E&°8, 31 ATall’ 27,020.8 27,020.8 -
20E 12E6°8, 31 Afail 27,020.8 27,020.8 -
= 1=Eé»n 27,020.8 27,020.8 -
24 UAUZ02T20 2T1£1 UOBE 1121 126698, 30 ATail 480,261.3 480,261.3 -
DEGUZT2U pheaoUod, 21 Aiail" 480,261.3 480,261.3 -
pPeUg°d ©i PAUA6AUABUUSS, 3 ATail 155,101.3 155,101.3 N
P»YU»AG ** BCYAGAIASYY»AC TSACT3E T»A3YaR4 -4l 155,101.3 155,101.3 -
7°5°020°35 ©1 625521a0200U°8, 2(* A&l 325,160.0 325,160.0 -
2t UnU»Y3Y»h " 63A03 TaRailY»h 325,160.0 325,160.0 -
12, p20=3RE=37f=0CY p=YIC 3¢2T648A0=20) ¢R3T=2Y=26140

16 | 04 | 05 | 01 | vumlmy Toearoniay - SYiisy-aiki=y 11=-Ch 325,160.0 243,870.0 81,290.0
(L ATal0 DD Th=VeAanTC 1280 VSESA=nasAlasy 325,160.0 243,870.0 81,290.0
AUAZOET 12E&°0, (2 Ajail 65,032.0 48,774.0 16,258.0
20E 12E&°0, 3% Ajail 65,032.0 48,774.0 16,258.0
= 1=2Eénn 65,032.0 48,774.0 16,258.0
aa UEU2082T20 ZT1£1 UCBE 1121 126890, 3L Ajai 260,128.0 195,096.0 65,032.0
DEPUZ120 pE2ac0os, 3% Atal 260,128.0 195,096.0 65,032.0
2°5°020°35 ©1 62652126a6P0°8, 3% ATal’ 260,128.0 195,096.0 65,032.0
2[E UnU»Y3Y»f " 6303 TaRaUY»A 260,128.0 195,096.0 65,032.0
01, 28C3T3Y %230 -2603Y p3YI¢ 2¢3T641A0=20p CA=T3Y=26140

17 |04 |05 | 03 | o e =i P P l’ﬁi?cﬁ 35230199 | 34792455 44,6744
(L ATal0 DD ThVeAANTC 1280 VSESA=nasAlasy 3,523,910.9 3,479,245.5 44,674.4
AUAZOET 12E&°0, (2 Ajail 33,576.7 8,409.3 25,167.4
20E 12E&°0, 3% Ajail 33,576.7 8,409.3 25,167.4
= 1=2Eénn 33,576.7 8,409.3 25,167.4
22 0EU=062T=20 2T1£1 UCBL 1121 126698, =0 Afail 3,490,343.2 3,470,836.2 19,507.0
DEPUZ120 pE2ac0os, 31t Atal 3,490,343.2 3,470,836.2 19,507.0
Po0g°5 ©1 PEUabAU260UD, St ATl 3,490,343.2 3,470,836.2 19,507.0
BrYUnfiC ~ BCVATRUABYY»AC TSACTSE T»i=Vana- Al 3,490,343.2 3,470,836.2 19,507.0
04. D3USRE3ANSICY p=YI¢ S¢2T6aiAi=0p CASTIY36140

18 1 04| 05 | 03 |opyapsas Taéamugaumaogv ugan»+aEanU¢§nc TA=-c 162,580.0 121,985.0 40,6450
3L ATal0 DD Th=VeAanTC 1280 VSESA=nasAlasy 162,580.0 121,935.0 40,645.0
AUAZOET 12E&°0, (2 Ajail 32,516.0 24,387.0 8,129.0
20E 12E&°0, 302 Ajail 32,516.0 24,387.0 8,129.0
=[ 1=2Eénn 32,516.0 24,387.0 8,129.0
aa UEU2082T20 ZT1£1 UCBE 1121 126890, 3L ATai 130,064.0 97,548.0 32,516.0
DEPUZ120 pE2a00°8, 3% Atal 130,064.0 97,548.0 32,516.0
Po0g°5 ©1 PEUabAU260US, 3T ATl 130,064.0 97,548.0 32,516.0
BrYUnfiC ~ BQYAIRIABYY»AC TSACTSE T»i=Vana- Al 130,064.0 97,548.0 32,516.0
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o | 2 123T=20£0 18298°8E, _ 32Ug £52T=0200a0 301 Al
ol 2|2 % _ @23pEUU°SE ©1 ~UabzoT20E0 12E6°8% AVLSUYA — —
g | e | TUTee=NET=T=20 262125811020 pa_121U°3k 1SAISiGY | pSUSyCrsY
2(1202600°8A Ugga6Yofi &= 1411400
11. I»AST36806U3Y ~ %3A- 3603V »THAASTSY u3YIG
19 | 05 | 04 | 01 [2¢>T6atk1=Up (R=T=Y26140 &2V Exg pY=&=N&=V=T=Y 391,265.0 262,534.2 128,730.8
ffi=-Gh
31 ATaU" DD I3ASIU3ICY I3E3T3AU3Y YIE3A3naAI3Y
GRSICY TYT»eatAISY ArTS13Y TAIGT 391,265.0 262,534.2 12,7308
AUAZOET 12E696, 51 At 391,265.0 262,534.2 128,730.8
>0 126698, S0 Aia 391,265.0 262,534.2 128,730.8
> [5Een 391,265.0 262,534.2 128,730.8
06, B=U=BESTNSGY oYIG S¢=T0a0A=Up (o T=Y=6140
20 | 05 | 06 | o1 }vs'rsv ASKSAVHAC TSEST=AUSY - RSTARMAISY VISm60=Y 1,006,695.3 942,963.9 63,731.4
fi=-Chi
STE ATA) DD 1= BoNESTAAISY Vo E SR naAla 1,006,695.3 942,963.9 63,7314
AUAZOET 12E6°0, SR Afal)’ 59,179.1 59,179.1 -
20 12E6°0, S0 Afa 59,179.1 59,179.1 -
EEE 59,179.1 59,179.1 -
33 UEU2Ue2120 ZT1£1 USSK T1a1 126655, S ATal 947,516.2 883,784.8 63,7314
PEBUZT20 OfzadUod, S ATl 947,516.2 863,784.8 63,7314
poUg°3 ©1 PEUa0AUa0UUSS, 31 ATal 897,441.6 841,839.2 55,602.4
PG~ BCTAIRIGIN VoG T2 BCTSE I Vana- 4l 897,441.6 841,839.2 55,602.4
@egoUz20°s ©1 625p21a0a08U°s, 31 Afail 50,074.6 41,945.6 8,129.0
2 U»UnY3Y»fi " 6303 TaRaUY»f 50,074.6 41,945.6 8,129.0
03, 28C3T3Y 43126037 p3YI¢ 2¢3T6atAI=0) CAsT3Y36740
20 | 06 | 03 | O | oy ohobemaray TH2-ch 975,481.0 780,385.0 195,096.0
31 ATaU" DD I3A3103UCY 1363 13AU3Y YSE3A3HaAIBY
el At e 975,481.0 780,385.0 195,096.0
AUAZOET 12E6°0, S ATal)’ 100,800.6 89,615.1 11,1855
20 12E6°0, S0 Afa 100,800.6 89,615.1 11,1855
EREES 100,800.6 89,615.1 11,1855
33 UEU2Ue2120 21141 USSK T1a1 126655, S ATal 874,680.4 690,769.9 183,910.5
PEBUZT20 OzadUod, S ATl 874,680.4 690,769.9 183,910.5
poUg°3 ©1 PEUa0AUa0UUSS, 31 ATal 639,492.2 494,796.0 144,696.2
B YUniG ~ BCY ARG VoG RCY ST haiAlasT 639,492.2 494,796.0 144,696.2
@egoUz20°s ©1 625p21a0a08U°s, 31 Afail 100,799.6 83,988.8 16,810.8
= UV =Volt~ 670> 1ARGI0T T 100,799.6 83,988.8 16,810.8
2UE pEDU=T20 pEza0U°0, S ATal 134,388.6 111,985.1 22,4085
USE=. S 1o =1=Y SEen 134,388.6 111,985.1 22,4035
08, T»AUSVC3UG %20 -2603Y T3ATHAC p=YIC Sc3T641AI UL
22 | 06 | 03 | 0L [cA=T=V=014)Dp Easss I=fg ghi=l=r=T=f=Al=Y - 1,9681935 | 1,853,737.2 114,456.3
CASR»63603Y R3UST3A-»AC »IST3Y-YUSY [1=-Ch
31 ATaU" DD T3A3103UCY I3€313AU3Y Y3E3A3RAAIBY
el At e 1,968,1935 |  1,853,737.2 114,456.3
AUAZOET 12E6°5, 31 ATal)’ 67,8934 67,8934 -
20 12E6°0, S0 Afa 67,893.4 67,893.4 -
EREES 67,893.4 67,893.4 -
34 UEU2Ue2120 21141 USSK T1a1 126655, S ATal 1,900,300.1 | 1,785,843.8 114,456.3
PEBUZT20 OzadUod, S AT 1,900,300.1 | 1,785,843.8 114,456.3
boUg©3 ©1 PEUA0AUA6UUSS, ST ATal 1,900300.1 | 1,785843.8 114,456.3
BoYUniiG ~ BOYAIAIAIY VoG T3 BCTSE Ini=Vaa. & 1,900,300.1 | 17858438 114,456.3
09. »AUSYCS(C $=A-260=Y T2AT»AG p=YIG 2¢=ToaAIS0
23 | 06 | 03 | 01 [¢AeT=Y=6740Db bCA=TG U=nug cRal=r=T=n=fi=y 2,041,007.3 |  1,918444.0 123,463.3
¢hi3ir63603Y N3U=T3A-»A¢ MHAST3Y-YUSY [A=-CA
31 ATaU" DD I3ASIU3ICY 1363 T3AU3Y YIE3A3naAl3Y
GR2ICY T »eathl=Y By rST=Y TAUCT 2041,907.3 |  1,918,444.0 123,463.3
AUAZOET 12E696, 51 At 1347138 134,713.8 -
>0 126698, S0 Aia 134,713.8 134,713.8 -
ENETN 134,713.8 134,713.8 -
32 UEU2U8=120 2 T1£1 USBE 141 126695, S Atal 1,907,935 |  1,783,730.2 123,463.3
PEBUT=0 Okza0Uo, Si Afal) 1,907,1935 | 1,783,730.2 123,463.3
po0g°3 ©1 PEUAGAU260UOS, STt ATail 1,907,1935 |  1,783,730.2 123,463.3
BoYUniiG ~ BOYAIRIAIV VoG T BCTSE I VaRa. &l 1,907,1935 | _ 1,783,730.2 123,463.3
=3 SAN3| =d 33 13| IS 3Y3
24 |06 | 03| 01 ;gbggyﬂ;‘;; 2:3§;L¥L%3§U;$“Aé’ﬁ;’§»§l ) rgif‘f’cﬁ 15257807 | 1,237,689 288,007
31 ATaU" DD I3ASIU3ICY 1363 T3AU3Y Y3E3A3naAI3Y
Ay AL ot =T TAUCT 1,525780.7 |  1,237,689.0 288,091.7
AUAZOET 12E696, 51 At 280,645.6 267,639.2 13,006.4
>0 126698, S0 Aia 280,645.6 267,639.2 13,006.4
ENETN 280,645.6 267,639.2 13,006.4
32 UEU2U8=120 2 T1£1 USBE 141 126655, S Atal 1,245135.1 970,049.8 275,085.3
PEBUT=0 Okza0Uo8, S Afal) 1,245135.1 970,049.8 275,085.3
po0g°3 ©1 PEUAGAU260USS, STt ATail 1,230,298.1 958,181.5 272,116.6
BoYUniG ~ BCY ARGV VoG T BT =E Inf=Vana- 40 1,230,298.1 958,181.5 272,116.6
7ogoU=0°6 ©1 6200=1a0200U°8, 31 At 14,837.0 11,868.3 2,968.7
2[E UnU»Y3Y»f " 6303 TaRaUY»A 14,837.0 11,868.3 2,968.7
=3 SAN3| =d 33 13| IS 3Y3
25| 06|03 | 01 |onTy cggug':a“ggagggv s gﬁ'gﬁjgsgggﬁ r:nach?rao 1,669,800.7 | 15027269 167,082.8
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1. 1251200 1529183k, _ 52Ug £8=T2U=00a0 (s Agaal
op| |2 | # | . 2=00E0U°BK =1 ~UabzeT=UE 12E6°0K AU —— ——
0| e | TUTee2NAT=T20 _ 262T=81020 ba_121U°3k VIR0 | BIURYCYSY
201202600°8A UGga6Y»fi 314800

31 ATaU" DD I3ASIU3ICY 1363 T3AU3Y Y3E3A3naAI3Y
A0l eIt STy TAs 1,669,809.7 |  1502,7269 167,082.8
AUA=OET 12E656, 21 ATal 147,395.0 1443710 3,0240
20E 12E6°5, 20 Aral 147,395.0 144,371.0 3,024.0
ERET 147,395.0 144,371.0 3,024.0
33 UEU2082T=0 2T1£1 USSE 181 126696, S0 Afal 1522,414.7 | _ 1,358,359 164,058.8
DEOUZT=U DE=aoU"d, 21 At 1522,414.7 | 1358,355.9 164,058.8
PoUgo3 ©1 PAUAGAUA6UU®, 31 ATall’ 827,304.6 724293.9 103,010.7
B Viniic ~ BCYATALA Y1 BCY>TnaiAlaY 1442735 128,763.4 15,5101
Do Viniic ~ BCYATAIGTYoIC T2AGT % foi>VaTa- &l 683,031.1 595,530.5 87,5006
7°2°U=0°6 ©1 626021 262000°3, 31 Atail 665,732.6 608,049.2 57,683.4
2[E Uni»Y3Y»f " 6303 TafaiUY»A 665,732.6 608,049.2 57,683.4
>0 pADU=T20 pE=a0U°s, 21 ATal 293775 26,0128 3,364.7
U=E=. (221 =127 [PEenn 293775 26,012.8 3,364.7
18. UASYECST2Y D2VAS AN WAIAISY T36=3123fiapAlsY .
3¢3T1640A0=0u CA3T3Y26140 O 3¢ cA=U=T3T=2/3A0=Y

26 | 06 | 03| 01 gﬁfﬂ»é3603$ |9ﬁ3_ﬁw -rnaUalﬁraoc-:':»i;vg'rs'rsv 4786355 3988738 79,7617
ScsT6aASY 7= -Gi
31 ATaU" DD I3ASIU3ICY 1363 T3AU3Y Y3E3A3naAl3Y
GR2ICY T »eathl=Y By r=T=Y TAUCT 478,685.5 398,873.8 79,7617
AUA=OET 12E656, 21 ATaU 4786355 3988738 79,7617
20E 12E6°5, 20 At 4786355 3988738 79,7617
= [2Eonn 4786355 3988738 79,7617

=3 SAN3| =d 33 13| IS 3Y3

27 |07 | 06 | o1 2285 oy N ga;iféﬁcf%a‘\’(’;%%; [;36_2;0 1,047,1880 |  1,768,545.1 178,642.9
STi Arail b Seats AoNaAISY Vo ESronaNaN 1,047,188.0 | 1,768,545.1 178,642.9
AUA=OET 12E6°6, S0t Atal 321,160.5 304,219.7 16,9408
=0E 12E695, 50 Aral 321,160.5 304,219.7 16,9408
e 321,160.5 304,219.7 16,9408
58 UEU=08=T=0 2T1£1 USOK 121 126696, 51 Afal 16260275 | 1,464,3254 161,702.1
DEDUZT=0 DE=aoUos, S0t Aral 16260275 | 1,464,3254 161,702.1
boUso5 ©1 PAUAGAUAUUS, 31t ATa: 774,762.3 697,305.6 77,4567
Do ViniG  BCVATAIG YT TS AT E o> Vara- il 774,762.3 697,305.6 77,4567
2°2°U=0°6 ©1 626921 262000°3, 31t Atail’ 851,265.2 767,019.8 84,2454
2T DV Yoi - 60 (ARG 851,265.2 767,019.8 84,245.4
09. B20=3RE=7=20CY u3YIC 3¢3T648A01=Up CA3T2Y=26140

28 | 07 | 06 | 0L | At foacy NoTotnts frm ch 248,779.8 184,105.5 64,6743
S Aral’ bb Sea0= ANAAISY Vo ESTonaAaN 248,779.8 184,1055 64,6743
AUA=OET 12E6°6, 1t Atal 207,744.7 153,735.6 54,009.1
=0E 12E6°5, 50 Aral 207,744.7 153,735.6 54,009.1
= [5Een 207,744.7 153,735.6 54,009.1
58 UEU=08=T=U 2T1£1 USOK 121 126696, 51 Afal 41,035.1 30,369.9 10,6652
DEDUZT=0 DE=aoUos, S0t Aral 41,035.1 30,369.9 10,6652
2°2°U=056 1 626921 262000°3, 51 Atail’ 41,035.1 30,369.9 10,6652
2t UnU»Y3Y»h " 83A03 TaRailY»h 41,035.1 30,369.9 10,665.2
11. D2RUSBESANSIGY p3YIC S¢2T6a0AI=0p GAST3Y=26140

20 | 07 | 06 | 01 |2ea6coa=R=T=Y RoUSTSH-C SgST=YS60SY »il 4t 36414994 | 27307262 910,773.2
1fi=-ch
ST ATl B S6a0= ANGAI=Y Vo ESTonanaN 36414994 | 2,730,7262 910,773.2
AUA=OET 12E6°6, 51 Afail 336,475.6 252,356.7 84,118.9
>0 12E6°5, 20 Aral 336,475.6 252,356.7 84,118.9
= [2Eoon 336,475.6 252,356.7 84,118.9
33 UEU2082T=0 2T1£1 USSK M1 a1 126696, S0 Afal 33050238 | _ 2,478,3695 826,654.3
DEOUZT=U DE=aoU"d, 21 At 33050238 | _ 2,478,369 826,654.3
PoUgo3 ©1 PAUAGAUA6UUO, 318 ATall’ 3,174309.4 | _ 2,380,333.8 793,975.6
B Viniic ~ BCYATALA YN GV TnaiAlaY 158,808.1 1253817 33,4264
Do Viniic ~ BCYATAIGTYoI T2AGT % foi>VaTa- &l 30155013 | _ 2,254,952.1 760,549.2
7°2°U=0°6 ©1 626021 262000°3, 31 Atail 22,7612 17,0709 5,6903
TR VeBATT=IGY 62T fanaUToi 16,258.0 12,1935 4,0645
2t U»U»Y3Y»i " 63A03 TaRaiUY»A 6,503.2 4,877.4 1,625.8
>0E pADU=T20 PE=a0U°s, 21 ATal 107,953.2 80,964.8 26,988.4
U=E=> . (2w a1 =127 [2Eeh 107,953.2 80,964.8 26,988.4

=3 SAN3| =d 33 13| IS 3Y3

30 | 09| 06| 01 %:A;Aéggﬁﬁ#c ey gn 6ré0 17671796 | 1,619,329.4 147,850.2
TR Aral 0B TRAGAISY ~ -CraihlsY Vo ESionaihlay 1,767,1796 | _ 1,619,320.4 147,850.2
AUA=OET 12E6°6, 1 Al 1,154,935.8 | 1,068,313.2 86,622.6
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o | 2 123T=20£0 18298°8E, _ 32Ug £52T=0200a0 {2 Avgl
op| 2| 2| ® | _ 9230E00°BE ©T ~UadacT=0E0 12E6°3% AVISUnVA — ——
[ i + | TUTee29£T2T20 _ 2621231020 pa, 1210°3£ ISAICY | pU=2ycvay
20120a600U°8A UCcaoY»A &314aMai
20E 12E6°8, 31 Ajail 1,154,935.8 1,068,313.2 86,622.6
2(t 13Eé»A 1,154,935.8 1,068,313.2 86,622.6
aa uEU=20e2120 2T1£1 U°SE T1ai 12E6°8, =1 ATail 612,243.8 551,016.2 61,227.6
pAEU=T120 gEzaoUo8, =0t ATail 612,243.8 551,016.2 61,227.6
poUg©d ©1 bEUA6AUAacUU®S, 3t ATail 4,184.8 3,768.6 416.2
B»YU»AC ~ ROYABAUAYY»AC TS AT 3E I»N=Yana- ail 4,184.8 3,768.6 4162
2°g°020°8 ©1 628021 25200U°8, (1 Atail’ 608,059.0 547,247.6 60,811.4
2(E Unt»Y2Y»f " 6303 TaRaUY»A 608,059.0 547,247.6 60,811.4
06. B20=3RE=7=0CY u3YIC¢ 3¢=3T648A01=0p CA3T2Y=26140
31|10 | 09 | 0L |gpcorajay 533'{':';5;?&0/1%379 410 -.-32§r3ﬁgay P 813,192.6 729,268.8 83,9238
3(1 Ai&U" DD yCY3YeY»iG ~ ( TAYAUC TG YSE3i3haAlasy 813,192.6 729,268.8 83,923.8
AUAZ0ET 12E&°0, 3(1 AT4il 131,462.2 122,552.8 8,909.4
2(E 12E&°9, 3(1 AT4il 131,462.2 122,552.8 8,909.4
2(f 13Eé»i 131,462.2 122,552.8 8,909.4
aa u£U=20e2T20 2TTE1 UPHE 1Al 12E6°6, 3(1 Afail 681,730.4 606,716.0 75,014.4
pAZU2T20 @EeaoU°d, 3(1 ATal 681,730.4 606,716.0 75,014.4
poUg®d @1 bEUadAUAacUUCS, 31 ATail 105,416.9 94,296.4 11,120.5
P»YU»AG " RCYATAIAYY»AC TSACTSE T»ASYaR4 - 4l 105,416.9 94,296.4 11,120.5
@egoU20°s ©1 628p21a0a60U°s, 3 Atail’ 576,313.5 512,419.6 63,893.9
2[E UnU»Y3Y»f " 6303 TaRaUY»A 576,313.5 512,419.6 63,893.9
B L | psustEsRSCY y=iTC SeSTomkiolu CrSTSY67a0
32 o7 | o6 o1 D3USET3Y( 646G3E3T3Y YrfirfiadUY»fi¢ NCUYS1fi3UG »ffiafit 2,469,297.5 2,014,593.9 454,703.6
09 | 06 [ 01 Th=-¢a
31 Afail” DD 1363 T13A4AIBY SRE3T3T34%0 2,469,297.5 2,014,593.9 454,703.6
AUAZ0ET 12E&°0, 3(1 AT4il 348,311.4 200,623.7 147,687.7
2(E 12E&°9, 3(1 AT4il 348,311.4 200,623.7 147,687.7
2(f 1=3Eé»i 348,311.4 200,623.7 147,687.7
aa u£U20e2T20 2TTE1 UPHE 1Al 12E6°6, 3(1 Afail 2,120,986.1 1,813,970.2 307,015.9
pAZU2T20 @EeaoU°d, 3(1 ATal 2,120,986.1 1,813,970.2 307,015.9
poUg®d @1 bEUadAUacUUCS, 31 ATail 1,952,065.4 1,682,215.3 269,850.1
P»YU»AG ** RCYAAIAGY Y»AC RCYSASAAGAIAY 1,365,314.2 1,183,257.2 182,057.0
P»YU»AG " RCYATAIAYY»AC TSACTSE T»ASYaR4 - 4l 586,751.2 498,958.1 87,793.1
@egoU20°s ©1 628p21a0a60U°s, 3 Atail’ 25,687.7 20,029.9 5,657.8
TH3YeAanT30CY 63Au31anaily»n 22,045.9 17,201.0 4,844.9
2t U»U»Y3Y»i " 63A03 TaRaiUY»A 3,641.8 2,828.9 812.9
2UE pE@U2T2U BAeaoU°s, 3(1 Afaill 143,233.0 111,725.0 31,508.0
U3E3- 13 r3nan313Y ISEéx»i 143,233.0 111,725.0 31,508.0
09. B20=3RE=7=20CY u3YIC 3¢3T64tAI1=Up GA3T2Y=26140
32,1| 04 [ 09 | 01 ?303@:'3?(; BA6C=E2T2Y Yo2fiiUV»AG RGUYS1A=UG »AfEAT 1,588,406.7 1,251,183.2 337,2235
fi=-Cii
AUAZOAT 12E6°8, =1 ATail 348,311.4 200,623.7 147,687.7
20E 12E6°8, =1 Atail’ 348,311.4 200,623.7 147,687.7
=[f [2Eé»i 348,311.4 200,623.7 147,687.7
aa ueU20ée2120 2TTE1 UOBL T1ai 12E8°0, 30t ATl 1,240,095.3 1,050,559.5 189,535.8
pEGU2T2U BEzaoUos, 3(1 Afail 1,240,095.3 1,050,559.5 189,535.8
poUg©3 ©1 pAUa6A0A6UUCS, 3(t Afail 1,071,174.6 918,804.6 152,370.0
P»YU»iiG ~ RCYABAIAGYY»AC RCY=A=naiAlalY 649,116.9 562,559.3 86,557.6
B»YUrAG ~ ROYABAIAYY»AC TS AT 3E I»N=Yana- ail 422,057.7 356,245.3 65,812.4
2°g°020°8 ©1 625021 25200U°8, (1 Atail’ 25,687.7 20,029.9 5,657.8
Th=Ye&an =00y 63A0= 1anailY»h 22,045.9 17,201.0 4,844.9
2t U»U»Y3Y»h " 83A03 TaRailY»f 3,641.8 2,828.9 812.9
20E pAgU2T2U gA2aoU°s, 3t Ajal 143,233.0 111,725.0 31,508.0
USE=. 1324313 12Eé»i 143,233.0 111,725.0 31,508.0
15. D2RUSBESANSICY p=3YIC S¢2T6a0AI=0p GAST3Y=26140
322( 06 | 03 | 01 |[D=0=¢W=Yeea6C3ETY VorltiatUY»iiG RQUYS1SUG Hitfdfit 145,248.9 125,869.4 19,3795
A=-CA
aa u£U=20e2T20 2TT£1 UL 1Al 12E6°6, 3(1 Afail 145,248.9 125,869.4 19,379.5
pAZU2T20 @EeaoU°d, 3(1 ATal 145,248.9 125,869.4 19,379.5
poUg®d @1 bEUadAUacUUCS, 31 ATail 145,248.9 125,869.4 19,379.5
P»YU»AG " RCYAIAIAGYY»AC RCYSASAAGAIATY 145,248.9 125,869.4 19,379.5
08. B20=3RE=f=20CY u3YIC 3¢3T64tAI1=2Up GA3T2Y=26140
323(07 | 06 | 01 ?303@:'3?9 G46G3EST3Y Vofi2iailY»AG ACUYS1A=0G »fifiafiz 58,463.7 50,660.0 7,803.7
fi=-Cii
aa 0EU20e2120 21141 UCSE T1ai 12E6°8, 301 ATail 58,463.7 50,660.0 7,803.7
pEGU2T2U BEzaoUos, 3(1 Afail 58,463.7 50,660.0 7,803.7
poUg©d ©1 bEUA6AUAacUU®S, 3t ATail 58,463.7 50,660.0 7,803.7
P»YU»iiG ~ RCYABAIAGYV»AC RCY=A=naiAlalY 29,231.9 25,330.0 3,901.9
P»YUriC ~ ROYABAIAOYY»AC TZACT3E T»i=Yafa-ail 29,231.8 25,330.0 3,901.8
33. D2USRE=ARSGY p=YIG S¢2T6a0A0I=0) CR3T2Y=6140
324|109 | 06 | 01 §3U3é'|'3Y(; S46C3E3T3Y V»A1Aa&iU»AG ACUY31A3UG »AfaAL 677,178.2 586,881.3 90,296.9
A=-Ch
aa 0EU20e2120 21141 UCSE T1ai 12E6°8, 301 ATail 677,178.2 586,881.3 90,296.9
pEGU2T2U BEzaoUos, 3(1 Afail 677,178.2 586,881.3 90,296.9
poUg©d ©1 bEUA6AUAacUU®S, 3t ATail 677,178.2 586,881.3 90,296.9
P»YU»iiG ~ RCYABAIATYV»AC RCY=A=aiAlarY 541,716.5 469,498.5 72,218.0
P»YUrfC ~ ROYABAIAIYY»AC TZACT3E T»i=Yafia- ail 135,461.7 117,382.8 18,078.9
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